N B 144720
P =k i2-1
O R

2 P gk
YERERF 1304

1127 2534 B 43 4 333241

A

MAR T OT R RIS E

(_7» ‘/’#/%\*’ Iyggziﬁpég\g\gr{; ,g%lliﬁ@“'ﬁfﬁﬁ, lﬁpég F oo ««ﬂ\véﬁ\i xf,‘g f » A S —‘:;J-/,,\ °
uﬁﬁﬁfgﬁaa*ﬁ A5k R hEY FIEE

- el T 0 - B RET 10kg S Y 0 F e g

1 ,
F:(ZQS)N B Y N AR IR R AR AT o B ARE Rl 2 B
HedR L P QMEE4 448 B o,=1radls , n1=3.14159 - (20 »)

Eg]__

S deBls A o F - PR ZEL0Ims B 78 ET=100kN-mit* 5 &

$ #h+4 P=1000 KNt * #ghend o] » 1=3.14159 - Hw BT R RE

(—) FEENF e AR ER SR AT Y 5 502 (104)

© I.J}ﬂ’}!% g b Bl 2o Mk e T ek < A 4 (Principal stress) 2 % 5 2
(254 )




5144720
Jox2-2

= deBlZ #7038 BT E S 10kgenFl 4 A Bk - SEE AB#ripid » B¥

AP ERZIM EE Z#Hk=1000N/m- LA RBEEP ¥ 3L BEL1OEM >
T j&-rﬁ‘]_&Ab%Bﬁ'/’\)x—- R Lm]"]’i (£ 51m) Jo,ﬁlﬁﬁ_‘lé » (Rt
BEABLZRT R % 2 R ERAKEIHE EI—ﬁ: v OEE
TR T W R RN RS 2 R TR e
c0s(30°) = 0.8660 » sin(30°) =0.5 « (204 )

Bl= (4 :m)
Ao Bl TR 0 F - Jfl‘- A ARLE E L R (Roller support) » A Crws 42 £ K&
(Hinge support) » 3F #8208 = R Z AR & 0 & # &Bruh# 6

$EL R (25/»\>

A L/3
L

Bl =




